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sekoskeokskoskokok skokok sk kol ko kol skok ok

This is a 1 order run
skokoksko sk sk ok skoskosk sk sk skosksk sk sk sk ok skok

shkokskkokk

INPUT:

kekskekokokok

error in error in
year doy time radii radius angle angle datatype
1986 165 2:30:30 3.10 +/- 020 100.0 +/- 1.0 SMM
1986 165 2:33:24 3.20 +/- 020 1000 +/- 1.0 SMM
1986 165 2:36:25 3.30 +/- 020 100.0 +/- 1.0 SMM
1986 165 3:52:11 3.80 +/- 020 100.0 +/- 1.0 SMM

skl sheokok skl sk sk skeok sk sk sk skskskok skekoskok sk sk sk sk sk sk sk ook

Structure being measured:
Top of Loop

skeskoiesk sk ek skeske skok ek ok shok skok skl skokeok s skok sk skeskok sk skek
skeokokokokskkok

OUTPUT:

sekokokoskok ok

START TIME:
Event began at t = 0 + -0.251E+03 +/- 0.183E+01 [minutes]
In more convenient units:
Event began at DOY 164 21:49 +/- 0.183E+01 [minutes]
Origin defined at DOY165 2: 0
RADIAL INFORMATION:
RADIAL VELOCITY = 90. +/- 11. km/sec
The computed RADIAL coefficients and errors FROM NLLST?2 are:
c(1) = 0.294E+01 +/- 0.584E-01 [solar radii]
c2)= 0.772E-02 +/- 0.924E-03 [radii/min]
c(2)= 0.895E+02 +/- 0.107E+02 [km/sec]
c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]
c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]
The computed ERRORS in coefficients [BEVINGTON] are:
error in c(1)= 0.71472E-01 [radii] see Bevington pg. 114
error in ¢(2)= 0.11316E-02 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:
ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:



a(1) = 100. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:30 = 0.000E+00 km/sec
The TOTAL velocity at 2:30 = 90, km/sec

The TANGENTIAL velocity at 2:33 = 0.000E+00 km/sec
The TOTAL velocity at 2:33 = 90. km/sec

The TANGENTIAL velocity at 2:36 = 0.000E+00 km/sec
The TOTAL velocity at 2:36 = 90. km/sec

The TANGENTIAL velocity at 3:52 = 0.000E+00 km/sec
The TOTAL velocity at 3:52 = 90. km/sec

Sk sk ek sk e ke e she sk ok sk sk e ek sk ok stk skl sk sk sk sk ok ok sk sk sk sk sk sk sk sk sk skeok sk sk ke sk sk sk sk sk sk skesk sk sk sk sk

The following info is for estimating goodness of the fit
sheskskesk skt sk st e sk sk st sk sk skoskok sk ko sk okok sk sk sk sk skok sk ok sk sk sk skok sk sk ok sk ok skskoskok sk ok ok skokok

Fit is ok [ier=1]

Standard Deviation in the height = 0.31

Standard Deviation in start time measurement =  0.342E+02
Error in time = 0.14167E+02 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.398E-02
Reduced Chi Squared = 0.123E-01

Chi Squared = 0.245E-01

The probability for exceeding chi square = 0.996E+00

The correlation coefficient =  0.979E+00
The probability that no LINEAR correlation exists between the variables = 0.2083E-01
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]




s sk ksl sk sk ok sk ok sk ok sk skeske sk skeskeok skesk

This is a 2 order run
sk skok ook ok ok kb ok sk ok ko ok skok ok sk ok

sk skek ok ok

INPUT:

skekkkokokok

error in error in
year doy time radii radius angle angle datatype
1986 165 2:30:30 3.10 +/-0.20 100.0 +/- 1.0 SMM
1986 165 2:33:24 3.20 4/- 020 100.0 +/- 1.0 SMM
1986 165 2:36:25 3.30 +/- 0.20 100.0 +/- 1.0 SMM
1986 165 3:52:11 3.80 +-0.20 100.0 +/- 1.0 SMM

s sk sk ke e sk ke sk skeok sk sk sk skeok sk sk sk sk sk skok ok ok skok skokskok sk skok sk sk sk ok

Structure being measured:
Top of Loop

sk sk kel s ook sk oo ok sk sk s sk ke sk ok sk skeske sk e sk ok stk sk sk sk sk sk ok sk skok ok sk

sekekekokokskok

OUTPUT:

Heokokok skokosk ok

START TIME:

Event began at t = 0 + -0.117E+02 +/- 0.155E-01 [minutes]
In more convenient units:
Event began at DOY 165 1:50 +/- 0.155E-01 [minutes]

Origin defined at DOY165 2: 0
RADIAL INFORMATION:
RADIAL ACCELERATION = -0.129E+00 +/- 0.640E-03 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST?2 are:

c(1) = 0.170E+01 +/- 0.619E-02 [solar radii]
c(2) = 0.561E-01 +/- 0.240E-03 [radii/min]
c(2) = 0.651E+03 +/- 0.279E+01 [km/sec]
c(3) = -0.333E-03 +/- 0.165E-05 [radii/min**2]
c() = -0.129E+00 +/- 0.640E-03 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

Approximate error in c(1) = 0.87488E-02 [radii] Bevington pg 154 (8-30)
Exact error in c(1) = 0.11049E-02 [radii] Bevington pg 154 (8-28)
Approximate error in ¢(2) = 0.34000E-03 [radii/min] Bevington pg 154 (8-30)
Exact error in ¢(2) = 0.42286E-04 [radii/min] Bevington pg 154 (8-28)
Approximate error in ¢(3) = 0.23395E-05 [radii/min**] Bevington pg 154 (8-30)
Exact error in ¢(3) = 0.29165E-06 [radii/min**] Bevington pg 154 (8-28)




ANGULAR INFORMATION:
ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:

a(1) = 100. +/- 0. [degrees]

a2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/-  0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:30 = 0.000E+00 km/sec
The TOTAL velocity at 2:30 = 415. km/sec

The TANGENTIAL velocity at 2:33 = 0.000E+00 km/sec
The TOTAL velocity at 2:33 = 393, km/sec

The TANGENTIAL velocity at 2:36 = 0.000E+00 km/sec
The TOTAL velocity at 2:36 = 369. km/sec

The TANGENTIAL velocity at 3:52 = 0.000E+00 km/sec
The TOTAL velocity at 3:52 = -216. km/sec

skedesfestestosksteok sk stk eskeoke sk sk ok sk sk sk sk sk sk sk ok skeok sk ks sk s sk sk skesk sk ok soksk ok s ok skokok skok ok ok

The following info is for estimating goodness of the fit
sk ek ok sk sk sk sk ok ok sk s sk sk ke sk sk ok sk ok sk sk ok sk sk s sk ke ko sk sk ok sk skesk e s sk sk skeok sk ok ok ok skok sk sk ok ok sk

Fit is ok [ier=1]

Standard Deviation in the height = 0.31

Standard Deviation in start time measurement =  0.342E+02
Value of reduced Chi Squared returned from nllst2 = 0.295E-06
Reduced Chi Squared = 0.119E-05

Chi Squared = 0.119E-05

The probability for exceeding chi square = 0.100E+01

For a second order fit 3 correlation coefficients are given:
(Using equation of motion: r = a + bt + at**2)
The correlation between the data and the term linear in time = 0.9792E+00
The correlation between the data and the time**2 term = 0.9719E+00
The correlation between the data and the complete equation of motion = 0.1000E+01
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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skeskskok skokok ok skok ok sk skokokok ok sk sk kokok

This is a 1 order run
sfe sfe o e o ok e ok sfe sfe sfe sk sk sk sesk sk sk sk sk sk sk

seokekskokok

INPUT:

kkokokkokok

error in error in
year doy time radii radius angle angle datatype
1986 165 1:23:9 220 +/-0.15 100.0+/- 0.5 SMM
1986 165 2:30:30 2.85 +/- 0.20 100.0 +/- 0.5 SMM
1986 165 2:33:24 290 +/- 0.15 100.0 +/- 0.5 SMM
1986 165 2:36:25 3.00 +/- 0.15 100.0 +/- 1.0 SMM
1986 165 3:52:11 3.50 +/-0.15 100.0 +/- 1.0 SMM

skeskokesk sk ok ok ook sk ok sk skok ok sk skl skl sk ok ok ok ks sk skok sk okokok ok ok sk skok

Structure being measured:
Top of Cavity

skeskokok skokok skokok skok sk ko ok skok siok skok skokosksk skokok skokokokkekokokok
KRR kR kK

OUTPUT:

dekokekok kokok

START TIME:

Event began at t = 0 + -0.122E+03 +/- 0.503E+01 [minutes]
In more convenient units:

Event began at DOY 164 22:58 +/- 0.503E+01 [minutes]
Origin defined at DOY165 1: 0

RADIAL INFORMATION:

RADIAL VELOCITY = 101. +/- 7. km/sec

The computed RADIAL coefficients and errors FROM NLLST?2 are:
c¢(1)= 0.206E+01 +/- 0.686E-01 [solar radii]

c(2)= 0.870E-02 +/- 0.638E-03 [radii/min]

c¢(2) = 0.101E+03 +/- 0.740E+01 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

error in c(1)= 0.78143E-01 [radii] see Bevington pg. 114
error in ¢(2)= 0.73581E-03 [radii/min] see Bevington pg. 114
ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]



The computed ANGULAR coefficients and errors FROM NLLST2 are:

a(1) = 100. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 1:23 = 0.000E+00 km/sec
The TOTAL velocity at 1:23 = 101. km/sec

The TANGENTIAL velocity at 2:30 = 0.000E+00 km/sec
The TOTAL velocity at 2:30 = 101. km/sec

The TANGENTIAL velocity at 2:33 = 0.000E+00 km/sec
The TOTAL velocity at 2:33 = 101. km/sec

The TANGENTIAL velocity at 2:36 = 0.000E+00 km/sec
The TOTAL velocity at 2:36 = 101. km/sec

The TANGENTIAL velocity at 3:52 = 0.000E+00 km/sec
The TOTAL velocity at 3:52 = 101. km/sec

sk stk ke ok ook sk sk sk sk seskosk sk sk skoskok sk sk sk stk sk sk sk sk skokskokoskok skok sk sk ok s sk skok sk sk sk ook ok ok ok skok

The following info is for estimating goodness of the fit
e st ke sk ek ok ok s sk ek e s skesi sk sk e e sk S sk sk sk skesk sk sk ok sk sk o s sk sk ok ok ok ok sk sk sk sk ok sk ok sk ok ok sk skok

Fit is ok [ier=1]

Standard Deviation in the height = 0.46

Standard Deviation in start time measurement =  0.472E+02
Error in time = 0.15461E+02 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.496E-02
Reduced Chi Squared = 0.211E-01

Chi Squared = 0.633E-01

The probability for exceeding chi square = 0.100E+01

The correlation coefficient =  0.989E+00
The probability that no LINEAR correlation exists between the variables = 0.1300E-02
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]



skeskoskokokoskok sk ke skokok sk skok okokokokoskok

This is a 2 order run
e s ok sk ok ok ok ok skske sk sk ok sk ke ok sk sk sk ok sk ok

sokskekokkk

INPUT:

sokskekokkk

error in error in
year doy time radii radius angle angle datatype
1986 165 1:23:9 220 +/-0.15 100.0 +/- 0.5 SMM
1986 165 2:30:30 2.85+/- 020 100.0 +/- 0.5 SMM
1986 165 2:33:24 290 +/- 0.15 100.0 +/- 0.5 SMM
1986 165 2:36:25 3.00 +/- 0.15 100.0 +/- 1.0 SMM
1986 165 3:52:11 3.50 4+/- 0.15 100.0 +/- 1.0 SMM

skeskeskokok ok sk sk sk oo ok sk sk sk s sk sk sk skesk sk sk sk ek sk sk sk ok sk skok sk sk sk sk ok

Structure being measured:
Top of Cavity

shesheskesfe sk ok ok sk s st e e ke sk s sk sk sk sk skok sk sk sk sk e sk sk ok skeokeok sk sk sk sk ok

skekokokskokkok

OUTPUT:

shekkekseokakok

START TIME:

Event began at t = 0 + -0.656E+02 +/- 0.850E+01 [minutes]
In more convenient units:

Event began at DOY 164 23:56 +/- 0.850E+01 [minutes]

Origin defined at DOY165 1: 0
RADIAL INFORMATION:
RADIAL ACCELERATION = -0.775E-02 +/- 0.250E-02 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST2 are:

c(1)= 0.192E+01 +/- 0.609E-01 [solar radii]
c(2)= 0.127E-01 +/- 0.133E-02 [radii/min]
c2) = 0.147E+03 +/- 0.154E+02 [km/sec]
c(3) = -0.200E-04 +/- 0.646E-05 [radii/min**2]
c(3) = -0.775B-02 +/- 0.250E-02 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

Approximate error in c¢(1) = 0.82363E-01 [radii] Bevington pg 154 (8-30)
Exact error in ¢(1) = 0.10041E-01 [radii] Bevington pg 154 (8-28)
Approximate error in ¢(2) = 0.17504E-02 [radii/min] Bevington pg 154 (8-30)
Exact error in ¢(2) = 0.48471E-03 [radii/min] Bevington pg 154 (8-28)
Approximate error in ¢(3) = 0.84981E-05 [radii/min**] Bevington pg 154 (8-30)
Exact error in ¢(3) = 0.24801E-05 [radii/min**] Bevington pg 154 (8-28)



ANGULAR INFORMATION:
ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST?2 are:

a(1) = 100. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 1:23 = 0.000E+00 km/sec
The TOTAL velocity at 1:23 = 136, km/sec

The TANGENTIAL velocity at 2:30 = 0.000E-+00 km/sec
The TOTAL velocity at 2:30 = 105. km/sec

The TANGENTIAL velocity at 2:33 = 0.000E+00 km/sec
The TOTAL velocity at 2:33 = 103. km/sec

The TANGENTIAL velocity at 2:36 = 0.000E+00 km/sec
The TOTAL velocity at 2:36 = 102. km/sec

The TANGENTIAL velocity at 3:52 = 0.000E+00 km/sec
The TOTAL velocity at 3:52 = 67. km/sec

e sfeskeok sk sk ok sk e sk sk sk stk e sk sk ok sk sk e ek sk sk sk sk sk sk sk sk sk sk ok s sk sk sk sk ok sk sk sksk ke sk skok

The following info is for estimating goodness of the fit
stk sheskskosk sk skl sk sk sheok skeskeok skoksk skeokok sk ok sk sk sk skskeok ek ok skskok sk skok sk skskok ok skok skskok skskoskskok

Fit is ok [ier=1]

Standard Deviation in the height = 0.46

Standard Deviation in start time measurement =  0.472E+02
Value of reduced Chi Squared returned from nllst2 = 0.157E-02
Reduced Chi Squared = 0.805E-02

Chi Squared = 0.161E-01

The probability for exceeding chi square = 0.998E+00

For a second order fit 3 correlation coefficients are given:
(Using equation of motion: r = a + bt + at**2)
The correlation between the data and the term linear in time = 0.1035E+01
The correlation between the data and the time**2 term = 0.9568E+00
The correlation between the data and the complete equation of motion = 0.9949E+00
SEE BEVINGTON "Data Reduction and Error Analysis" [1969]
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seskokesk skoskoskoksksk ok skok ek skok skokokok

This is a 1 order run
sk skokok ok okok skok sk ok okokockoak sk ok skokok ok

kokskekkkk

INPUT:

skokskskokkok

error in error in
year doy time radii radius  angle angle
1986 165 2:30:30 2.55 +/- 020 100.0 +/- 0.5
1986 165 2:36:25 2.60 +/- 020 100.0 +/- 0.5
1986 165 3:52:11 325 +4/-0.20 100.0 +/- 1.0

s sk ok e ok o sk ook sk ok ok ok ek sk sk sk sk sk sk sk ok sk sk stk sk ek sk ok sk sk sk sk ek

Structure being measured:
Top of Core

skeske sk ook ok sk sk s sde sk S ks sk sk sk sk sk sk sk sk sk ok sk sk sk sk ok sk sk sk skeok
skekskekokskokok

OUTPUT:

seokeskekekkekok

START TIME:

datatype
SMM
SMM
SMM

Event began at t = 0 + -0.150E+03 +/- 0.621E-01 [minutes]

In more convenient units:
Event began at DOY 164 23:30 +/- 0.621E-01 [min

Origin defined at DOY165 2: 0
RADIAL INFORMATION:

RADIAL VELOCITY = 99. +/- 0. km/sec

utes])

The computed RADIAL coefficients and errors FROM NLLST2 are:

c(1)= 0.229E+01 +/- 0.398E-03 [solar radii]
c(2)= 0.857E-02 +/- 0.566E-05 [radii/min]
c(2) = 0.995E+02 +/- 0.656E-01 [km/sec]
c(3)= 0.000E+00 +/- 0.000E+00 [radii/min**2]
c¢(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

The computed ERRORS in coefficients [BEVINGTON] are:

error in c(1)= 0.56292E-03 [radii] see Bevington pg. 114

error in ¢(2)= 0.80033E-05 [radii/mi
ANGULAR INFORMATION:

n] see Bevington pg. 114

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]

The computed ANGULAR coefficients and errors FROM NLLST2 are:




a(1) = 100. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]
a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/-  0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:30 = 0.000E+00 km/sec
The TOTAL velocity at 2:30 = 99. km/sec

The TANGENTIAL velocity at 2:36 = 0.000E+00 km/sec
The TOTAL velocity at 2:36 = 99. km/sec

The TANGENTIAL velocity at 3:52 = 0.000E+00 km/sec
The TOTAL velocity at 3:52 = 99. km/sec

skt skokskokoskosiok sk skeskskosiok skok sk ok ok ok ok sk ok sikok skokosk sk ok sk skok skokskok ok ok ok kokokok

The following info is for estimating goodness of the fit
s sk stk sk ok sk ke sk sk e ok ke e sk sk sk sk sk sk sk st st sk s ook e sk ok sk sk s ok s sk sk ok sk sk sk sk ok sk sk sk sk ks sk ok sk sk skeok

Fit is ok [ier=1]

Standard Deviation in the height = 0.39

Standard Deviation in start time measurement =  0.372E+02
Eiror in time = 0.60135E-01 using best fit method

See Taylor Error Analysis [Univ of Colorado] pg.78

Value of reduced Chi Squared returned from nllst2 = 0.133E-06
Reduced Chi Squared = 0.409E-06

Chi Squared = 0.409E-06

The probability for exceeding chi square = 0.100E+01

The correlation coefficient =  0.100E+01

The probability that no LINEAR correlation exists between the variables = 0.1717E-02

SEE BEVINGTON "Data Reduction and Error Analysis" [1969]




seskokoeokok sk okok ok skokoskok sk sk sk sk sk

This is a 2 order run
skesk ok ok sk ok sk ok ok sk sk skoke kol ok sk ok sk skok

ek skokk

INPUT:

skskokokokk ok

error in error in
year doy time radii radius angle angle datatype
1986 165 2:30:30 2.55 +/- 020 100.0 +/- 0.5 SMM
1986 165 2:36:25 2.60 +/- 020 100.0 +/- 0.5 SMM
1986 165 3:52:11 3.25 +/-0.20 100.0 +/- 1.0 SMM

skl sk s e sk sk sk sk sk sk sk sk sk sk sk ke sk ol ok sk sk sk skl sk sk sk sk skok skoskok ok ook

Structure being measured:
Top of Core

seste ek sk sk ok sk sk ke e e e e shesk sk sk sk sk skeske e sk sk sk sk ok sk sk ok ks ok ok sk sk skok
sk keskokokkok

OUTPUT:

skeskokskok ok ok

START TIME:

Event began at t = 0 + -0.160E+03 +/- 0.000E+00 [minutes]

In more convenient units:

Event began at DOY 164 23:22 +/- 0.000E+00 [minutes]

Origin defined at DOY165 2: 0

RADIAL INFORMATION:

RADIAL ACCELERATION = 0.607E-03 +/- 0.281E-06 km/sec**2
The computed RADIAL coefficients and errors FROM NLLST?2 are:
c(1) = 0.229E+01 4/- 0.272E-05 [solar radii]

c(2) = 0.835E-02 +/- 0.106E-06 [radii/min]

c(2)= 0.968E+02 +/- 0.122E-02 [km/sec]

c(3)= 0.157E-05 +/- 0.726E-09 [radii/min**2]

c(3)= 0.607E-03 +/- 0.281E-06 [km/sec**2]

ANGULAR INFORMATION:

ANGULAR ACCELERATION= 0.0000E+00 +/- 0.0000E+00[radians/sec**2]
The computed ANGULAR coefficients and errors FROM NLLST? are:
a(1) = 100. +/- 0. [degrees]

a(2) = 0.000E+00 +/-  0.000E+00 [degrees/min]

a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]
a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]




a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]

THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:30 = 0.000E+00 km/sec
The TOTAL velocity at 2:30 = 98. km/sec

The TANGENTIAL velocity at 2:36 = 0.000E+00 km/sec
The TOTAL velocity at 2:36 = 98. km/sec

The TANGENTIAL velocity at 3:52 = 0.000E+00 km/sec
The TOTAL velocity at 3:52 = 101. km/sec

sk skl sk sk ok ke sk ok sk s s sk sk sk sk ke sk sk sk sk sk e s sk sk e Sk ok s s s sk sk ke sk ok skok ok sk skeok sk sk sk sk skok sk sk ok sk skesk

The following info is for estimating goodness of the fit
skeske sk ok sk sk sk sk sk s s sk ok sk ke e e e sk ok s sk sk ke sk sk sk ok o S ok s st sk sk sk ok sk ok sk sk sk sk sk sk ok skeok ok ok ok sk skok

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!



